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(b)    a =1,   n =8     or  a = 2,  n = 7 

         

        ( 27 )       or    2 (27 - 1)         

       

      (Note:   or   correct listing  P1 K1) 

 

              

        128 

 

 

 

 

P1 

 

K1 

 

 

 

 

N1 

 

 

 

 

 

 

 

3 



 

SET A 

2 
 
 

NO SOLUTIONS MARKS 

3 

 
(a)   14- Markah Ben = 7     or     10

7

ShimaMarkah  + 62
  

 

        Markah Ben = 7 dan  Markah Shima  =  8 

 

 

K1 

 

 

N1 

 

 

 

2 

 

 

 

 

 

 

 

6 

 (b)  210
7

21721421228272725














  **
 

 

        4.071 

 

K1 

 

 

N1 

 

 

 

 

 

2 

 

 

(c)    min = 20,    varians = 66.29 

 

 

 

N1,N1 

 

2 

4 
  






  1221 Akos

Akos

Asin
a  

         2 sin A kos A = sin 2A 

K1 

 

N1 

 

 

2 

8 

(b)      

 

  

 

 

 

 

P1  

(sin 

graph)  

P1  
(2 cycle) 

P1 
reflect 

P1 
translasi 4 

2

3

212(c)





k

k

 

K1 

 

N1 
2 

5 (a)    A (30,40)     dan C(60,20) 

 

P1 1  

 

 

 

 

 

 

 

 

 

 

 

7 

(b)   D (90,  60)    
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(b)  Refer graph paper 

      Plot    log10 y against log10 (x+1)  
                             (at least one point)  

      6 points plotted correctly  

      Line of best fit N1
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(a)    AE2 = 202 + AE2 - 2(AE)(20)cos 300 

           AE = 11.55 cm 
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(b)   (i)   ½ (20)(11.55) sin 300 = 2 ( ½) ( CE)(10) sin 600  
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